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QUESTION 1

Which of the following can be defined on the basis of a query?
A. An alias

B. A base table

C. An accelerator-only table

D. A materialized query table

Correct Answer: D

Reference: https://www.ibm.com/developerworks/data/library/techarticle/dm-0509melnyk/

QUESTION 2

Which of the following are valid objects created using DDL? (Choose two.)
A. PLAN

B. PACKAGE

C. DATABASE

D. SEQUENCE

E. USAGE LISTS

Correct Answer: DE

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0023321.html

QUESTION 3

Which type of lock is obtained when using a "WITH UR\\' clause on an SQL SELECT statement in a data-sharing
environment?

A. U-lock
B. S-lock
C. P-lock
D. No lock is obtained

Correct Answer: D
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QUESTION 4

In the parent table of a referential constraint, a parent key must be which of the following? (Choose two.)
A. A unique key

B. A foreign key

C. A primary key

D. A duplicate key

E. A secondary key

Correct Answer: AC

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_9.7.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020153.html

QUESTION 5

Which of the following is a characteristic of a stand-alone utility?

A. It can only be executed using JCL

B. It can only be executed by a user with SYSADM

C. It can only be executed if no other utilities are running

D. It can only be executed in a non-data sharing environment

Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/ugref/src/tpc/

db2z_invokestandaloneutl.html
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